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Fructional  Exponeats
Rational Exponents

Cad

24: ,é 3 == 17 L:a_ﬁl

investigate the meaning of a rationa! exponent:

25:: 62:

. a)What cg‘eramns can we ;fwwﬁ“m to change 162 2 into 167

,a?.‘

(69 x 167 = 1657% = [¢ =16
<\ez> - ié‘zxz

b} What does 163 mean?
L
6= = [ie
because »r—ié)l = b and Oé“i) = |6

{

6 = 16

(I

2. aE What oper f;rmr» can we perform to change 83 into 87

(83 = 8“3 = 8‘ =%

(%3]

1
a; What does 83 mean?
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Let X = gé _—-5(1)5:@5) ) 13: g
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a} What operations can we perform to change 163 into 167

(o¥) = 16%* =1 = 16

\ - 'L— - 1 e — < _\—
b} What does 162 mean? et A = ”74

ﬁ* = ‘W’j 4 =65
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 Rational Exponents
) e
What you do think 273 would be? 27 2= 327
‘J_ .
- 5 = 5
What you do think 325 would be? ?)2 > = ] 32

¥ Denomnator of tie fractiong
OxXponent g ‘{mig:x; of
the radical number,
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Rational exponents of form —

1 E 14 ir : 'qu |
e R i (R FL =
\81 _CE\ 4\:‘8‘ 4 3)4 34_1 5
R N =i ra .
b. (-32) 22 5 %2)5 - _2> _ _2
c. (—~16): —

=16 & Vet

, conlt do aay mee
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(-21)5 3[57 T (3 2% = 3

¥ Note ! (DD DD -2) =

ahowt @ Qnd@

DLH: base:
’-32 j You can take] hegactire nmmluer(wm.

V(DD (D) =

2. Solve,

is WSide P o rad,cM) C)nly 'F
N (ndex) Ts odd number,

a. x%=-16 ~—> Not solvable
wlxs 27es AL =3P = A=-4
c. tﬂ{ "\1 QGC{’ 4J—_ ’04 > X =
3. Rational Exponents of the § (rrr»*
. MOL =
B ek , g : 3 2
a. 8 = 3 ]C23>L 2/96 = =2 :4
5 AxE x4 - o 3
b.ajz:fl'g‘*)g: 4:55:2+5 . 9 :%
i e
T s .__'———- — e 4[{3 nis evea, (O
£ '@;)3 3 & &l = r4t — 4 sl ) 7 J
= _0|3’ fieo w\(@\/\~ 8( (C‘ munst l,e g(eg‘tq
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4. Simplify. Express your answer using only positive exponents.

—2-"?- = 4_ ,J__
1 i

2 2

x5 _ 15'*3 + 3 23_
i = 2. = "= 2=AL

1-—-—*
z i - —
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5. Express VB as an xpression with exponents.

J’g:g%

6. Express ¥/ 7 as an expression with exponents

(T =

7. Express V10000mS8 as an expression v

4 mooo/}% J/ \)/d A/J ngx'

ith exponents, then evaluate.
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